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QUESTION 1

What is true about a data type? (Choose two)

A. Its instances are data values.

B. Its instances are mutable objects.

C. Its instances are identified by GUIDs.

D. Itis a classifier that must not be abstract.

E. It is the only kind of type that can be returned by an operation.
F. It can be diagrammed as a rectangle with the keyword dataType

Correct Answer: AF

QUESTION 2

What is a selector of a lifeline?

A. a scheduler that chooses the next lifeline on which to run

B. a specific lifeline that selects a resource from a resource pool

C. a construct to select one lifeline out of all the lifelines in the diagram

D. an expression selecting one out of a set; a general indexing mechanism

Correct Answer: D

QUESTION 3

What does the arrow end of a dependency relationship indicate?
A. more general classifier

B. element initiates communication

C. whole in a whole-part relationship

D. client element is affected by a change in the supplier element
E. supplier element is unaffected by a change in the client element

Correct Answer: E

QUESTION 4
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In UML, what is the behavior of an object caused by?
A. acall

B. a trigger

C. an event

D. an operation

E. an event type

Correct Answer: C

QUESTION 5

Which arrowhead shows that a message represents an asynchronous signal?

CoA
-
T B.
=>
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———
C D
————————————— -
A. Option A
B. Option B
C. Option C
D. Option D
Correct Answer: B
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